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Flachenmafde - Umwandlungen

Arbeitsblatt
BRI ATUNg e
. Seitenlange gy Co100m ¢ 10m | 1m 1 dm lem | 1mm
. einesQuadrates ; . L
Flacheninhalt : 1km? @ 1ha @ 1a : lme ; tldme ; teme & 1mm?
1km2= 1 1lha= la= | 1m?= 1 dm2= lcm2=

_____________________________ 100ha | 1002 | 100me | 100dme | 100emt | 100mme |

Beispiele:

Verwandle in die angegebene Einheit!
Tm2= dm2 40 cm2 = mm? 10,65 cm2 = mm?

4,26 m?2 = dm? 0,31 m2= dm? 23 km? = ha

0,07 kmz = ha 9,7 dm2 = cm? 32a= m2

9,6 cm? = mm? 4,3 ha= a 19,6 km? = ha
200m2=__ dm? 740 cmr=_ dmz ;"Séé'i:'r'hé":' """""""" dmz

14,26 m2 = dm2 2331a= ha 23076 m2 = ha

3000 m? = a 0,7dm?2 = cm? 432a= ha

1428 cm2 = dm?2 124,3 ha = km?2 196 m2 = a
8m269dm2=_ dm?2 6ha27a= __ a  43aléme=__ m2

18ha69a= a
' 2km?212 ha=

84 m29dm2=

41 dm2 15 cm? =

41dm2 5cm2 =

2km? 2ha= ha

' 8m269 dm2= m2
;18ha69a: ha
2 km2 12 ha = km?2
' 2km? 2ha= km?

‘6ha27a=

584m29dm2:

41 dm?2 15 cm2 =

41dm? 5cme=

dm?z 8cm269mm2=__ mm?
cm? 12ha39a= a
cm? 12ha 9a= a
ha '43al6m?= a
m? 8 cm? 69 mm? = cm2
dm2 {12ha39a= ha
ha

dm2 | 12ha 9a=

- 7126 dmz2 =
18,06 m2=
45,3 ha=
245986 M2 =

34607 dm2 =
65,4 km2 =
65,04 km2 =
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